FMI Tudor 36" Direct Vent Elec. Ign. Burner Assembly

MODELS: TC36NE, TC36PE, TC36NBE, TC38PBE

Part Number Description

1 o Burner Pan Assembly

2 pis Base Grate

3 i Botiom Firebox Base

4 26808 Valve Bracket

5 11107 Screw, #10-32 x 1/4 Zinc

6 bid Firebox Bottom

1 11102 Screw, #8-32 x 3/8 Zinc

8 12187701 | Aluminum Tubing Assembly

9 11128802 | Flex Gas Line

10 | 10836601 | Electric Pilot Assembly NG
10886602 | Electric Pilot Assembly LP

11 | 14569 Electric Valve Assembly NG
14570 Electric Valve Assembly LP

12 111165 Screw #10 x 5/8Zinc

13 111191301 | Burner Base Gasket

14 | 14500 Brass Fitting

15 | 11634501 | Pilot Bracket

16 | 26827 Switch Bracket

17 | 11226 Flat Washer, 7/8" IDx1 1/4" OD

18 | 11214 Bulkhead Fitting with Washer

19 | 142% Elbow, 3/8"

20 | 23102 Gas Onfice #40 NG
23096 Gas Onfice #53 LP

21 | 11136 Screw, #8 x 32 x 1 Zinc

22 111028601 | lgnition Module

23 | 11147 Screw, 10-24 x 1/2 BLK

24 | 14129 Transformer, 24V Class 2

25 | 11665901 | Cnmp-on Terminal Ring

26 | 10886301 | 24" Supply Connect Plug

21 | 14149 Spade 1/4 F RT. Angle

28 | 14126 16 GA Green Wire

28 | 14134 18 GA Black Wire

30 | 14520 Spade 1/4 Female Connector

3 | 17223 Magnet

32 | 23416 Electronic Components Board

33 | 11201 Nut, 8-32 Hex Zinc






